[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

[} I’J
° Q
S =
£ 3
2 E
4 [%)
Q j=
E o
= 3
@
=i 8
I I
x x
1 -H
0¥95-20-15-10 -5 0 5 10 15 20 25 05 =50-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_mkFit_baseline
—e— DQM_mkFit_baseline6iter
[N of sim] —— DQM_mkFit_TT_Retrainv2_WP2_iter_ep3
1] 1J
Q@ o
S =
8§ 10° 3
2 E
= %]
[5] c
c 8
F 102 e
10
Ll el
8+ ! e H T 2
O T iii
IR . :
MG AL i
0.9 | LI m ||I NI ) o | i1
=1-0.8-0.6-0.4-02 0 0.204 0608 1 -1-0.8-0.6-04-0.2 0 02040608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
<@ F . o
st : =
R R R RAR AL 3
2 H E
] : 2
& 103 [EEEEE CEREERT P ERE teeees &
= F o
E 4
o
©
x
0¥ =20 -0 0 10 20 30 0¥ 20 -i0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} 2
<@ o
S E
F
2 E
x [%]
Q c
IS S
= 3
@

Ratio

o

1
z(PV) (cm)

To
Q

T



	Contents
	Page 1


